RHATFAL XFHXN EA#HDE (z+a)(x+b) 02

1. XORXRZHNESRE L. (SHk24F, AR08, BHFK 13108, CH1550% )

(1) 22?2 —b5zy — 692 (2) 2%+ 5ay + 6y?

(3) % 4 5xy — 63> (4) 2% — 5xy + 6y

2. RXOXZERESAT X, (SHA0F, AfK15310%, B2, C#H3437 308 )

(1) 2% + by + 492 (2) 2% —2lay + 20y
(3) 2% — xy — 612 (4) 2% + 3zy — 18y
(5)  a?— 132y + 22y 6) 2% —9zy — 36y
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3. ROXEREIHE L. (SH24F, Afas®, Bk173 208, C#27)

(1) 2?2 —2zy—8y? (2) 2%+ Ty + 632

(3) 2% + 14xy — 1592 (4) 2% — 102y + 16y

4. ROXEKWEDEE L. (S0, AR175 108, B2, C#H35330%)

(1) 2%+ 9zy + 8y? (2) 22— 162y + 1592
(3) 22— 62y — 16y (4) 2% +4day — 2152
(5)  a% — 1bxy + 26y (6) 2 —13zy — 48y

© Bt - 2R L7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

RHTFAN XFX BEHDE (r+a)(z+b) 02 BEEHR

1. XORXRZHNESRE L. (SHk24F, AR08, BHFK 13108, CH1550% )

* 22 + (a + b)x + ab = (z + a)(z + b)
il &
@ 22OV TO BERERORKICEEALT, Z0HNBEEZS.
@ QOQOREDMDHI B, MMz DHEDFEEEFE L 225D % Ao 5.

(1) % — 5xy — 6y> (2) 2% + 5xy + 6y
=22+ (1 —6)zy+1-(-6)y? =22+ (24 3)zy +2 - 3y?
= (z +y)(z — 6y) = (z + 2y)(z + 3y)
(3) % 4 5xy — 63> (4) x% — 5xy + 6y
=22+ (6— 1oy +6-(—1)y? =22+ (=2 = 3)zy + (=2) - (=3)y?
= (z + 6y)(z —y) = (z — 2y) (= — 3y)

2. XORXZHRBOMRE L. (SHA408, AR1510%, B2, CH345730%)

(1) 22 +5zy + 492 (2) 2?2 —2lzy+ 20y

= (z +y)(z + 4y) = (z — y)(z — 20y)
(3) 2% —zy—6y? (4) 2%+ 32y — 182

= (z + 2y)(z — 3y) = (z + 6y) (= — 3y)
(5) % — 13zy + 22y (6) 2% — 9y — 36y

= (z — 2y)(z — 11y) = (= + 3y) (v — 12y)
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3. ROXEREIHE L. (SH24F, Afas®, Bk173 208, C#27)

(1) 2?2 —2zy—8y? (2) 2%+ Ty + 632
= (z + 2y)(z — 4y) = (z + y)(z + 6y)
(3) 22 + ldzy — 159 (4) 2% —10zy + 169
= (z + 15y)(z — y) = (z — 2y)(= — 8y)

4. ROXEKWEDEE L. (S0, AR175 108, B2, C#H35330%)

(1) 2%+ 9zy + 8y? (2) 22— 162y + 1592

= (z+ y)(z + 8y) = (¢ — y) (= — 15y)
(3) 22— 62y — 16y (4) 2% +4day — 2152

= (z + 2y)(z — 8y) = (z + Ty)(z — 3y)
(5)  a% — 1bxy + 26y (6) 2 —13zy — 48y

= (z — 2y)(z — 13y) = (z + 3y)(z — 16y)
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